
Age vs log(posts) and log(years shaving)

summary(lm(log(posts) ~ log(yrs)))

Call:
lm(formula = log(posts) ~ log(yrs))

Residuals:
     Min       1Q   Median       3Q      Max 
-3.47847 -0.83071  0.09778  0.88054  3.38671 

Coefficients:
            Estimate Std. Error t value Pr(>|t|)    
(Intercept)   4.9774     0.2187  22.755  < 2e-16 ***
log(yrs)      0.5273     0.1591   3.315  0.00177 ** 
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1 

Residual standard error: 1.531 on 47 degrees of freedom
  (6 observations deleted due to missingness)
Multiple R-Squared: 0.1895, Adjusted R-squared: 0.1723 
F-statistic: 10.99 on 1 and 47 DF,  p-value: 0.001772 


